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Question Number : 1 Question Id : 5431078763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



The following statements are about biodiversity hotspot :

AferigT Y9 waidioedy slesdie @ f[A99 § § ¢

(A) There are currently about three dozen biodiversity hotspots in the world

o9 997 [d99 § o9 9 991 oididided sleeic &

(B) A biodiversity hotspot must have at least 0.3% species of vascular plants
tound nowhere else on the Earth

Tardraygdr slewie § &8 9 &9 0.5% Hds-1d Ur"l @ Tulladl &1, Wl SNl O

(C) A biodiversity hotspot must lose at least 70 percent of its primary native
vegetation

viafafderar elewie § ARfE Jifee gaxaraal @1 70% = € 7Y B
Options:
Only A
, BT A
Aand B
s ATdB

A Band C
S.A,EQTI'C

None of the three

o T g e

Question Number : 2 Question Id : 5431078764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is not a fresh water ecosystem ?
Frfoias 5 § @9 are Jo aTielas 9 J8] & °
Options:

River




Pond
5 T
Estuary

i T

Question Number : 3 Question Id : 5431078765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following statements about troposphere is incorrect ?
arrvse @ fawa # fa=ferfag wodl § 5 @9 Tord & 7
Options:

The troposphere is the lowest laver of the Earth's atmosphere

| EMEUSE gl & argHUSS Bl ey el WX B

The temperature increases with altitude

o TTTAE SaTs @ a1 9gal ©

Air in the troposphere is heated from the ground

o HTHFTSH H a7 OxIed o TH e &

Weather occurs i the troposphere

4 ATTE STYETSe | Hied BT

Question Number : 4 Question Id : 5431078766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Lateal Multiple Choice Guestion

Dr. M. 5. Subbulakshmi has distinguished herself in the tield of :
Sio THe THo Jeelen! - wWd & faftre gaif fean & -
Options:
Kathak
| BIF @ EF H
Bharat Natyam
, VG e & & H



Playing Violin
5 AU aIE @ & H

Vocal Music

4 A & AT

Question Number : 5 Question Id : 5431078767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question
Which among the following is a martial dance ?
Fferiad H | @A ARG g & Ud 9 & 7
Options:

Kathakali of Kerala

T P HUHA!

Bamboo dance of Meghalaya
HETd W1 41 e

Chhau of Mayurbhan

3 E?.ﬁ?ﬂ"«, Fh—[ 2] 'E.—

Bhangra of Punjab

Question Number : 6 Question Id : 5431078768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Where did Buddha attamed Mahaparmirvana ?
g& @ AEARarT S8l W gam o ?
Options:

Kushinagar

FEJ%"- :“ ,

1.

Pavapuri

, TTATg



Sarnath
ESIEGIED

Sravasti

Question Number : 7 Question Id : 5431078769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cesticon Label ;- Multiple Choice Question

Which of the following cities is nof related to Indus Vallev Civilization ?
S99 W A N R | Haied TR 987§ 2

Options:

Harrapa

A~
1. :

Mohen-jo-daro

,

| WS |
o ;

Lothal

= SR

Hastinapur

JE4%] Ux
4 2

Question Number : 8 Question Id : 5431078770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The minimum interest rate of a bank below which it is not viable to lend, is
knowmn as :

T8 A T &Y [Ois &9 UX 2&9T o1 4 & oy guie (Brasde) A8l vuar

= el ? i
Options:
Reserve Rate

Base Rate
5> o9 B



Margimal Rate
o T (ATSE) &%

Prime Lending Rate
, FAdH SER R

Question Number : 9 Question Id : 5431078771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Portion of deposits banks have to park with RBI is called :
YT FEd @1 95 fewar 5 47 @1 3o dio 5o H Y& USdl ©, Bl ©
Options:

Statutory Reserve Ratio

1 HI 'rj:'Ell-'F.' T E}*'_rf 3] ﬂ 1]

Capital Adequacy Ratio
o Sl T ST

Cash Reserve Ratio
5 g g SgUT

CASA Ratio
4 Silo To THo To SUTd

Question Number : 10 Question Id : 5431078772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Who among the following famous authors was an Investment Banker prior to
turning to a colummnist and a writer ?

fr=fofag 4 @ @F-w 9feE o@® U6 WS oEd U4 ofEd 999 @& gd UE
FaeTeel &% o ?

Options:
Arvind Adiga
Chetan Bhagat
o, T T



Jhumpa Lahiri

Kiran Desai
%, i
4 Tchv GRENEE

Question Number : 11 Question Id : 5431078773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which among the following bodv regulates Mutual Funds in India ?

R H TG BUS DI B \el A sxel § 7
Options:
RBI

| ¥Re dlo o
SEEBI
5 THo ?;'0 o Eﬂ'@"‘o (ﬂ?ﬁ}

NABARD
5 U0 Uo djo To 3o §lo I::I'ITI'ETETJ

AMEFI
4 T o [0 ITdo

Question Number : 12 Question Id : 5431078774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Sultan Azlan Shah Cup is related to which among the following Sports ?
e e 2e fefoiad | O fha W § ddfed § 7
Options:

Badminton

1. ::“‘;

Hockey

z.

Table Tennis

2 E:ﬂ‘i( :_,"l‘x



Golf
4, TIEH

Question Number : 13 Question Id : 5431078775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

With which among the following sports, Tan Thorpe' is related to ?
freaforfias & @ fFa @ar 9 ‘59 o wdfee & 2
Options:
Athletics
, Qereifesd

Boxing

Swimnung

RIED

s

Racing

4 A

Question Number : 14 Question Id : 5431078776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Cuestion
"Magnus Carlson" is a player of which among the following sports/games ?
W @Terd @ Hag Frefafrg Ao P wa g g ?
Options:
Cricket
. e

Carrom

o P
Chess
2 E?EF.'{J'I

Tennis

4?5-7\-'115'



Question Number : 15 Question Id : 5431078777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

'Birdie” and "Eagle” are two terms related to which of the tollowing sports ?
‘ge" T "SI Ug refofag # O fhw W § wefg € 7

Options:

Polo

1.

Golf

2. LS 5

Chess
3 2T 23
Billiards
| fil (: . 4*5:: \':!

4.

Question Number : 16 Question Id : 5431078778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

What does term 'Olericulture’ mean ?
Options:
Cultivation of cash crops

1 Hffiél [L‘x:"\?” H?Qr fé} a

Science of vegetable growing
Hesll BT BT fa=m=

Cultivation of oilseeds

A E
2 dole-d & f@}zﬁﬁ

Science of fruit cultivation

Question Number : 17 Question Id : 5431078779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



Cuestion Label - Multiple Choice Cuestion
Which among the following planets are called Jovian Planets’ ?

Fretfeifiad # o food /b 9g /98l &I WIfdds 98 el Wil & 7

(A) Jupiter

(B) Mercurv
qe

(C) Uranus
S Rl

Options:
‘A’ only

'A'and 'C
Bl - & S

Question Number : 18 Question Id : 5431078780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The planets on which the Sun rises in the west are :
af¥ed H for U8l . YU SEF BT £ d E ¢

(A) Venus
BED
(B) Uranus
ST
(C) Mars
Which of the options given belows are correct ?
Are ey fowedi H #4 Wel © 7
Options:




B and 'C’
B 7 C

‘A'and 'C

‘A'and B
‘A' T B

‘A", B'and 'C'
AB T C

Question Number : 19 Question Id : 5431078781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The orographic wind is nrot caused along which of the tollowing ?
g ugH etefeg § 9 59 & 9eEN Ostg F8f el € 7

Options:
Western Ghats

Aravalis
> | GIG

Garo Hills

Khas=i Hills
4 @TET fEed

Question Number : 20 Question Id : 5431078782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Cement Factory workers are prone to:
dHe hag! & HHE WIHd 8 ©

Options:
Leukemia
-, o
o O | oh

1. &



Bone marrow disease
= HR oAl I &

Asbestosis

5 SERCIRG P

Cytosilicosis
4 TTEETIfTaRe ©

Question Number : 21 Question Id : 5431078783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

U. 5. is intending to construct a physical wall along the border of :
o THo fF T & WA T[S WA W IS WP AR WS AT A8 7 7

Options:
Canada

1, TN

Mexico
5 OfarThT

Puerto Rico

Rus=ia
4 B

Question Number : 22 Question Id : 5431078784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Guestion
Which of the following is the Oldest Veda ?

M H I UEaaA 98 T & ?

Options:
Atharvaveda
| Herdds

Rigveda
o Y



Samveda

3_ e | ]l‘:i.ﬂ

Yajurveda

4, T(dq

Question Number : 23 Question Id : 5431078785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Whao was the twenty third Tirthankar of Jainism ?
et @ 23 derfaw o ?
Options:
Mahavir

Parshwanath

Adinath
CHERID]

Arishtanemi

. HNETH]

Question Number : 24 Question Id : 5431078786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a work of Kalidas ?
M= o W ®F Bleiarg @) Yol 78 & ¢
Options:

Meghaduta

Abhijnanshakuntalam
o HHHATAG A

Mrichchhakatikam

Hooh o H
3.t )



Ritusamhar
5 Fe-HEN

Question Number : 25 Question Id : 5431078787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Who amongst the following was not a member of the Dratting Comumittee of the
Constitution ?
Afaer aigerEd HiAfd ®1, (91 5 ¥ $4 9ew T8t o1 ?
Options:
Mohammad Sadullah
, HAIEHE Higedle

K. M. Munshi
Ho THo ﬂ"@ﬁ

A. K. Ayvyar
o Ho TR

Jawaharlal Nehru
SEISEICEEELY

Question Number : 26 Question Id : 5431078788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Guestion
The Rajya Sabha can be diszolved by :

I 94T fha® ERT 9T @1 o 9ol & 7

Options:
The Prezident
1. " wgufd R

The Prime Minister

5 TETHET BTRT

The Council of Ministers



None of the three

j i H ¥ his AR

Question Number : 27 Question Id : 5431078789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Establishment of a three-tier Panchavati Raj syvstem was first recommended by :
I UEat Xa UUTell WRfid &Y @ SIEr Gaue $i s ol

Options:

Ashok Mehta Conunittee

e Hedr 9iEfd 8w

L

L.M. Sﬁlghvi Comunittee

Uclo THo FH=l |fEfT 8N

Balwantrai Mehta Committee
gold—Td Hedl arafd g

Sarkaria Commission

o] JATEET =219

Question Number : 28 Question Id : 5431078790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Guestion
Under the Indian Constitution which amongst the following is considered to be
the guardian of the fundamental rights ?
WIRATD G & =i Fefonad § W W g SiEdN B HEd FEs ol € 7
Options:

Parliament

President

o CEI GG

Judiciary
o TR FFI'
Prime Minister
” ETHA] I



Question Number : 29 Question Id : 5431078791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Guestion
What does fluoride pollution affect ?

FANTES TEuvT | T F9Idd 8 & 7

Options:
Kidney

1 B

Brain

5 4 T

Heart

3 B

Teeth

4?':[

Question Number : 30 Question Id : 5431078792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

Tissue that stores Fat in our body is known as :

Sda Gl fh #AN IRR H a1 ®I |@iEg #¥ar 2, 99 oET W6 8

Options:
Muscular tissue
1 . ':r o I ":;:‘l Cl1cn

Adipose tissue
I G

Cartilage tissue
JUTET s

Nervous tissue

;._- ‘.'.‘:l"t'.l o tlen

Question Number : 31 Question Id : 5431078793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



Question Label : Multiple Choice Question

The bones around your chest that protect organs such as lungs, heart are called :
AMIH] BRI & @RI 3N I Ssisdl off Bwmsl, ool Wid 3 @ 8 Xl ©, del
Options:

Diaphragm
1 S[HTHTH

Pectoral girdle
5 I 4=

Humerus

= H .\*_-:f}a

Ribs
4. “’IE i

Question Number : 32 Question Id : 5431078794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The coloured part of the human eve that controls how much light passes
through the pupil is called :
q19d ARG &I 98 S 260 29N ATE] 9% g8+ diel Thr9 @ HarEg & g ¢

Options:
Cormea

1.

Iris

I

Retina

i

\_' r r:

Optical nerve
Fffiedma =9

Question Number : 33 Question Id : 5431078795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion



D}-'munﬂ converts :

.

ST gRafda &var © ¢
Options:
High voltage into Low voltage

L N e o WL -2
1 9= dicca @[ [HH diecd H

Electrical energy into mechanical energy

, ToEd Sul @1 AEE Gt F

Mechanical energy into electrical energy

5 M Sl &I T&Ejd Sl |

Low voltage into High voltage

4 [ diees @1 9= diecd

Question Number : 34 Question Id : 5431078796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The best conductor of electricity amongst the following is :

h,

FEfoigd § 9 i_cl'EE{r: H TaY =L A B

Options:
Aluminium

T

Copper

Silver

Question Number : 35 Question Id : 5431078797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



Match List - I with List - IT and select the correct answer with the help of code
given below the lists :

A - 1 3 g - 1§ gHe Sifoe SR gieal & 919 3T 10 65 @1 920 9
HEl GTx Bl Fds DIty

List-1I List-1II

-1 - 11
(A) Audiogram I. Heart
(B) EC.G. II. Bramn

?‘E;r'fﬁ Hle o A
(C) EEG. III. Ear

E_:’o 350 o Gkl
(D) Mammogram IV. Breast

HHRTH g8l
Options:

Codes :

@c

(A) (B (©) (D
I oD m v

(A) B (© (D)

I I m IV

(A) (B) (€©) (D)

(A) (B (© (D)
111 I II A%



Question Number : 36 Question Id : 5431078798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

An iron needle tloats on the surface of water due to
Options:

Upthrust of water

Ol & Gcellad & BN

1

Surface tension
U5 THd & HIN

Viscosity

IATHAT & BN

Gravitational force

T %
ESEIES T "ol & hiNU
4.

Question Number : 37 Question Id : 5431078799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which city has been adjudged as the cleanest city in Swachh Sarvekshan for
third year in a row ?

fa=fafag & 9 SA-91 787 W9 Jau0 ¥ TEarR e 9”99y Wes WY =iftg
T T 7

Options:
Chandigarh
| g

Varanasi

Indore
=3 -»{E- '*-: ®

Pune

L



Question Number : 38 Question Id : 5431078800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The US has reduced validity of work and missionary visa from 5 years to 1 year
tor citizens belonging to which nation ?
Jo THo H b9 U & Hed § i Ud gAY I Hedl (T vd Heed) §Er @6
dET BT 5 Y ¥ HelPY 1 9y B four g ?
Options:

India

q

Russia
> W

North Korea

5 BTN BIRAT

Pakistan
4 u |-'-'i3'.l‘{:t L |

Question Number : 39 Question Id : 5431078801 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Thirty-zix nations have signed an open letter criticizing which nations' human
rights record ?

36 BT < U ol U9 H TR N W <9 & HFdangsr o HaEdg i @6
Options:

Russia
1, B
Israel

> -.IE_ A dc]

Myanmar
=, el

Saudi Arabia

4 FHEl VY



Question Number : 40 Question Id : 5431078802 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Prime Minister Narendra Modi released the new series of visually impaired
triendly circulation' coins, which denomination coin be of 12-edged polygon
shape ?
gaEA s Al A gfcartd oFae ade [ael @ R A 81 12 @
arel 989 AN B (e o ed &1 8 7
Options:

Rs 2

Rs. 20
4. 20 o

Question Number : 41 Question Id : 5431078803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Which of the given answer figures is exactly the mirror image of the question

tigure if mirror is placed at AB ?

a1 T 9TR SBdl § 9 - SH U AHia @ guvr uidiaE & g s
BT AB W 3@ oIl T 7

Question Figure/J¥T7Td 3’|T§Fﬁ

£

R

(B)
Answer Figures/3TiX anyfam"

(A) j
L

(B)

(©)

Options:
A



Question Number : 42 Question Id : 5431078804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Out of the given four figures, three are similar in a certain way. One figure is
not like the other three. That means three figures form a group. The question is
which one of the figuresz does not belong to this group ?

&1 TN AR arefal § | AN w09 9eR ¥ 99E £ UE P O o9 ® H9AE
I8 2| 3@ o g8 B fF O Apiadl 998 el 21 U I8 © fh Bie-E s

7
Wap 8

(A)

T

T
(B) ‘ Y T
?

i F\\
(C) \ '
NS
|
Options:
A
1.
B
2.
S.C
D



Question Number : 43 Question Id : 5431078805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
Rahul put his watch on the table in such a way that at 6 P.M., hour hand points
to North. In which direction the minute hand will point at 9.15 P.M. ?
RTEa S0 TS B §9 UHIR Aol W VEaT § 99 6 dul AuEd He @ g8 9N
W1 AR Heed Bl o | fHd f3em 4 e # g2 9:15 @ ud F e oyl 7
Options:

South-East

i Sierv-gd

South

o Q&M

North
3. ‘\! 4 2

Question Number : 44 Question Id : 5431078806 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question

Two cars start from the opposite places of a main road, 150 km apart. First car
runs for 25 km and takes a right turn and then runs 15 km. It then turns left and
then runs for another 25 km and then takes the direction back to reach the main
road. In the mean time, due to minor break down the other car has run only
35 km along the main road. What would be the distance between two cars at
this point ?

a1 BN 150 fhHlo 37T U9E g & [dwid R | Fofal 2 | U8l &R 25 fdhHl
Teral & oA Sl ATe ol © Ol dwgad 15 fhHle Feldl ¢ 3UE 9l 38 9R
forg 4o @1 faem # Torhl 21 39 4 oS W ORE @ @R g SR Y 9o
TR Hacl A9 35 Al Tell B1 §9 W W S BN & 91" & g4 w1 BE ¢
Options:

65 km

;. 65 frsTo

75 km

P
I‘-d
1

G 8]



Question Number : 45 Question Id : 5431078807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

The length and breadth of a room are 8 m and 6 m respectively. A cat runs
straight along all the four walls and finally along, a diagonal order to catch a
rat. How much total distance is covered by the cat ?

Options:
10m
10 o

14m
14 Hlo

383 m
33 Hlo

43 m

48 o

Question Number : 46 Question Id : 5431078808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

If AxBmeans A istothesouthofB; A + Bmeans Ais tothenorthofB; A%B
means Aizstotheeastof B; A—Bmeans Ais tothewestof B, thenin P2 Q+R-5,5
is in which direction with respectto Q ?

A Ax B &I Adcld A GT B & S 8, A+ B & Addd A W B & TR 8, A% B &I
ATAd AT BS [ 8 A-BHAd@ A Wi B & %99 & @9 P% Q + R-5, ¥
S, QU fpg feem#d g ?

Options:



South-West
Tiem-afg=y

South-East

g

North-East

North-West
FTR-gIeTH

Question Number : 47 Question Id : 5431078809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Early morning after sunrise, Karthik was standing infront of his house in such a
way that his shadow was falling exactly behind him. He starts walking
straight and walks 5 metres. He turns to his left and walks 3 metres and again
turning to his left walks 2 metres. Now in which direction is he from his

starting point ?

& 39d Y US el o | 98 WY Fe IR ®al © a1 5 Ao goar & | 98 3
a2 Hedl 2 Ud 3 Hlo Folal & dl G U 91 ASaN 2 Hio Il 2 | 39 98 U
AR ¥ O e faen 5 &8 2

Options:
West

T

North-East

o It E_q\_ci

East

3 O



South-West

i TieT-gigEy

Question Number : 48 Question Id : 5431078810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

o=

In a certain code, '239' means 'read from paper' ; '276' means 'tea from field' and

'85' means 'wall paper'. Which of the following is the code for 'paper’' ?

Ud [Hf¥=a @ 3 289 @1 daeid UUR § UgAT g, '276' B Haod Wd ¥ Wy € g

'85' Pl Aderd AN BT 2| = H 9 B9 Ui B B © 7

Options:

],

Can't be determined

4 FERE T8 far o waar 2

Question Number : 49 Question Id : 5431078811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

It E =5 and READ is coded as 7, then what is the code of DEAR ?

aff E=5 Ud READ 7 % ©9 # §¢dd &, a9 DEAR & &c &1 € 7
Options:

1.{:

=]

Question Number : 50 Question Id : 5431078812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Choose Odd one out of the options :

faeeal 3 9 fauA &1 gHu
Options:
PSOR

SVUT

MNPQ

MNML

Question Number : 51 Question Id : 5431078813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

There are seven persons P, Q, R, 5, T, U and V up on a ladder (not in this order).
P is turther up than T but is lower than R. Q iz in the middle. V is between P
and Q. T is between Q and U. If U is between T and S, the person on the bottom

step of the ladder will be :

TH U WeaRAa A P, QR 5 T, UMRVE GaFA A E )| P, T @i

s 153

HUETT ST HUN 2 Wb R & AWM A 8| QA HE |V, P U@ Q & a9 21 T,

QU UGl I U, TS & &g g o dlel & Hdad AH I Afad 8N ¢
Options:
")

iz

2.R

| B

Question Number : 52 Question Id : 5431078814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

If you write down all the numbers from 1 to 100, then how many times do you
write 3 7

e

e 39 1 9 100 9% 941 9=V foread € o1 39 o e 3 fod € 7
Options:
11

1

18

Question Number : 53 Question Id : 5431078815 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Today is Varun's birthday. One year, from today he will be twice as old as he

was 12 years ago. How old is Varun ta:uciajf ?

TS GOV B SAGT €1 TSl ¥ Y GY 9rG, 98 QU1 9F B BN o a8 12

Options:
20 years

20 a9

22 years

> 22 T

25 years

k. r
25 dY

27 years

27 TY

Question Number : 54 Question Id : 5431078816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



Ayush was born two vears after his father's marriage. His mother is five years
yvounger than his father but 20 years older than Ayush who is 10 years old. At

what age did the father get married ?

AT 9 U1 & fadre & 31 99 915 UgT g7 AT | $EaT Al $Hd fUar 9 ur" 99

OIC] § oifde] Y9 § 20 a9 981 € o1 10 99 &1 2| 59 95 4 iy &7 faare gen

o 7
Options:

23 years

23 99

[
n
=
&
2
(&)

!:‘:J
4,

33 vears

33 @9

3D years

4 35 @8

Question Number : 55 Question Id : 5431078817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In a group of persons travelling in a bus, 6 persons can speak Tamil, 15 can
speak Hindi and 6 can speak Gujarati, in that group, none can speak anyv other
language. If 2 persons in the group can speak two languages and one person can

speak all the three languages, then how many persons are there in the group ?

a9 | U X e Afaadl & GHE 4, 6 iad diid adl 9 g, 15 Bl die g
g Ud 6 T[uidl drcl 9ahd £, 9 GHE 4 ®Is (Bl o 11T Bl A8 91 Wbl 8 |
g, T 998 H foae] =afad € 2

Options:
21

1



Question Number : 56 Question Id : 5431078818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following Venn-diagram correctly illustrate the relationship
among the classes : Carrot, Food, Vegel ables ?

=7 § 9 -9 99-3g S0 Mo, 9TeH, Afeadr § HE-EE] ey W B

(<) =IO 0 (d) E@ O

Options:
(a
;. a)

(b)

Question Number : 57 Question Id : 5431078819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Three of the following four are alike in a certain way and so form a group.
Which one does not belong to that group ?
et AR H § OF U Mi¥Ea a® 9 WEHE € 991 89 UBN UH 95 §91d & | e

(a) Tooth (b) Chin (¢) Noze (d) Ear
Options:
(@)
5 (b)
= ()
d
. (&)

Question Number : 58 Question Id : 5431078820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
Find the odd one out :

fa9H &1 o oFmsy -

Options:
Flower ; Petal
1 rﬁ .'\_]\_3-'

Circle ; Arch
g ; @

Cover ; Page

3 s
Chair ; Leg
g THW

Question Number : 59 Question Id : 5431078821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion



Arrange the following in a logical order :
M5 @1 difched HH A= Sy
(1) Shoulder (2) Writs (3) Elbow (4) Palm (5) Finger

FHe TS HEAl EO] e

Options:

. 24,531

Question Number : 60 Question Id : 5431078822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

The LCM of two integers is 1237. What is their HCF ?

&1 QUITehl 1 STgeH GAEds 1237 2, d1 a0 He<d HATgdas sl

Options:
1. A

i 19

None of the three

. A e

Question Number : 61 Question Id : 5431078823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The LCM and HCF of two number x and y are 3 and 105 respectively. If x + v = 36,

o |
thevalue of —+— is:
X oy

o W= x a7 y & gTH Ud Heqd 9HEds A 3 9 105 B 1 A x + v = 36,

T . | .
E[ —_—— f:F.l -_-| bl | ﬁ_ 1 .
X .1 Fi

Options:



1
1
> b
12
z 315
4
4 35

Question Number : 62 Question Id : 5431078824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Two 3 digit numbers have their HCF 29 and LCM 4147. The sum of the
numbers is :

| ST aTell 31 WMl &1 HewH WHUddad 29 9l THTH FHbdadd 4147 F)
Options:

GhLO6
e

669
2.

9
3.{}{:

966
4.

Question Number : 63 Question Id : 5431078825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

= -
9_1= of 3—=5= of 4 -
11 9

‘;:I 2
9—1— I 3'.i+5i ol z= ______________

9 11 7 9
Options:

1

1, 4



Question Number : 64 Question Id : 5431078826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
3 1
If —l:l thenx=0:
M
L—

Question Number : 65 Question Id : 5431078827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

If o= ﬁ,llllj FA 3443+ o then which of the following is true ?

o
|

—~ | i e -, - o 5
TG o=43++3+43+. ...« T HH H B ¥l &

Options:
; =3

E_E‘Se:{:t-::—L



Question Number : 66 Question Id : 5431078828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Value of +/0.2 will be -
J02 @1 99 '

Options:
5,
, 0.02

Question Number : 67 Question Id : 5431078829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

If 94/x =12 ++/147 then xis equal to:
afe 9x =12 ++/147 @1 x &1 799 290
Options:

Question Number : 68 Question Id : 5431078830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Average of two numbers is 6.5 and square root of their product is 6. What are

the numbers ?

=7 Il FT 39T 6.5 997 995 U Bl .;__.-]';im 6%El HeTy e |

Options:



9and 4

9 =T 4

10 and 3

10 T2 3

11 and 2

11 T=1 2

Question Number : 69 Question Id : 5431078831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

If the difference between the average of x, y and y, = is 12, then what is the
difference between x and = ?

X,y TRAT y, = @ SAEA] @ N 12 8 x TAT 2 F A SN 8

Options:
24

5 43

Question Number : 70 Question Id : 5431078832 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

X is 36 vears old and Y is 16 years. In how many years will X be twice as old as

Y?

X % 99 36 94 2 Wi Y @I 95 16 99 & | fb1 991 H§ X &1 95 Y ¥ 3 A 2
3 ¥

-T.-E L

Options:
1 year
1 19y



3 years
3 3 a9

4 vears
449

Question Number : 71 Question Id : 5431078833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question
Rajeev's age after 15 years will be 5 times his age 5 years back. What is the
present age of Rajeev ?
RTiTE W1 BH 15 T4 915 SHS 5 a4 Jd B A DI 5 AT BN | [6ig B ATAN 1Y
B 7
Options:
D years
5 gy

10 years
> 10 @

15 yvears

15 a9

50 years
4 50

Question Number : 72 Question Id : 5431078834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Find value of

H

(243)5 x 32"+
gl 3“—1

Options:
1.3

&I HIH =d Dllv



Question Number : 73 Question Id : 5431078835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Find the largest amone 35,53 .42 and ¥4
(]

HEES. —

e P 3= : 4 5 By
5 %93 42 T Y4 HFm Hag aeT B 7

Options:

N2

1.

J4

Question Number : 74 Question Id : 5431078836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

If x=3+2y2 then [ o +i4 i will be :
>

gfg x=3+2J2 Wi Ix‘4—1—1_1 1 HIA BRI
Options: |

1 1154

> 1024

= 1734

None of the three



Question Number : 75 Question Id : 5431078837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

A mixture of 20 kg of sprit and water contains 10% water. How much water
must be added to this mixture to raise the percentage of water to 25% ?

20 oo Wi Ud a1 & 850 H 10% 9= 21 89 s | foeaar o= e fem
o o 91 & Afaed ey 25% 2 A 2

Options:

1 kg

4 ﬁ-ﬁo* o

1

Skg
5 5 ﬁ-ﬁ-::-?]'[r.:-

8 kg
3 ﬁﬁo ENREe]

30 kg
30 fhodTo

Question Number : 76 Question Id : 5431078838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The radius of a circle is increased by 1%, the percentage increase in areais:

gaq & e 4 1% @ gig &x" W, fhad ufaed &1 ser 996 &3%d § 8l

Options:

1%

L

1.1%

z 2%

3 201%

Question Number : 77 Question Id : 5431078839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



One litre of water is evaporated from 6 litres of a solution containing 5% salt,

the percentage of salt in remaining solution is :

6 HicY =1 4 5% FH® ©, THH ¥ UP wlex Ul a9 &9 @Y § Wil 8, a9 g9

gl § 9% @ 9ia9d 81 ;

Options:
429%
1 9
5
5=%
e i
4 6%

Question Number : 78 Question Id : 5431078840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A single discount equivalent to successive discounts 30%, 20% and 10% is -
AT BE 30%, 20% TRIT 10% @ aR16X U ¥ 2F

Options:
; 50%

51%
. 49.4%

4 49.6%

Question Number : 79 Question Id : 5431078841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What price should a shopkeeper mark on an article costing him ¥ 153 to gain
20%, after allowing a discount of 15% ?

UH GG A0 9] W F1 BT g B fTa9 AP 20% &1 o9 8 wdid
DT Jod T 153 8, [l ¥ 15% @1 ge 4 ga1 8 ?

Options:
1 T 162



Question Number : 80 Question Id : 5431078842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

A shopkeeper bought 3 pens for T 34 and sold 12 pens for ¥ 57, the number of
pens, that he should sell to have a profit of ¥ 900, must be :

U GHMER § U9 T 34 &1 8¥ § WAGHY 12 U9 X 57 H d99ar 21 T 900 &1 i
g & 8q B fdad U 9 994 TS 7

Options:

, 1400

1600
1300

2000

Question Number : 81 Question Id : 5431078843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

If 537 —13xy+6y”> =0 thenx:y=?
AT 527 —13xy+6y> =0 T x:y B A T
Options:

(5:3)or (1:2)

1!.‘5:3}?1T{1:2}

only (3:5)
4 ®ad (3:5)



Question Number : 82 Question Id : 5431078844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Mean proportional to 0.32 and 0.02 is :
0.32 T9r 0.02 T HeATIUTd BT ¢

Options:
, 017

5 0.08

5 0.008

Question Number : 83 Question Id : 5431078845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A cdircle and a square have the same area. The ratio of the side of the square and
the radius of the circle is :

1 B

Options:

1. "u"I'E i |

2. J.'."u'fE

Question Number : 84 Question Id : 5431078846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

A and B are partners in a business. A contributes i of the capital for 15 months

and B received — of the profit. Find for havs long B's money was used :

o

_ W 1 B 3
QEW?TAEEHEWWE!A@WHE%Hl;aﬂ.ﬁﬂTFHFTQWE

B ~ 2 T 5 . B, S 3
a7 B SR &1 = HIT el &Xl €| B 7 G foba A1e & forg 5= @ |



Options:
6 months

{}'_-l'F_-‘:.'

1

9 months

z_qqﬁ’l—ﬁé

10 months

3,10 FEH

1 year

4, 1y

Question Number : 85 Question Id : 5431078847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A train of length 150 meters takes 40.5 seconds to cross a tunnel of length 300

meters. What is the speed of the train in km/hr ?

UF 150 Hiex @l ¢ 300 Hied @ T @ HiE B d 405 UEvS ol Bl o

Options:
1 1333

;I

5 40.0

4 60.0

Question Number : 86 Question Id : 5431078848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

A man sell his chair for Rs. 720. He loses 25%, to gain 25% he should sell it for :
U ATEA AU w720 o H w=Ear 2| 99 25% @I B Bl 8, 25% @ e

Pl

&N B AU, 99 il B feoe § guer w@ey ?

Options:
, 1220



- 1200
2 960

4 900

Question Number : 87 Question Id : 5431078849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

A total of 324 coins of 20 paise and 25 paise make a sum of Rs. 71. The number
of 25 paise coins is :
20 19 9 25 U9 & @ 324 9@ 71 Yo a0 €1 25 U & fHami &1 He @

Options:
, 124

144

5 200

120

Question Number : 88 Question Id : 5431078850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

A is 3 vears older to B and 3 years vounger to C, while B and D are twins. How
many years olderisCto D ?

ABU3aigsice N C 93 Wial Blel &, Wald Bam D gsar €1 C, D 9§
ho 99 9T & ¢

Options:
1 2

[

Question Number : 89 Question Id : 5431078851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question



A tather is now 3 times as old as his son. Five years back he was 4 times as old
as his son. The age of the son is:

U U 39 HHY AU H I g &1 3 A 2| U 94 U 98 U gH B g
BT 4 AT AT) GH H Y 2

Options:
12 vears

y 12 79

15 vears
5 15 T4

13 vears
5 18 @

20 years
4 20 a9

Question Number : 90 Question Id : 5431078852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Next number in the following series 3,7, 16,35, 74, ___......_._ i5.
freferfad §aer 3,7,16,35,74, ... H 3FTAT 3% B

Options:
; 150

5 153

Question Number : 91 Question Id : 5431078853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

There are 25 paise and 50 paise coins in a purse. Their number is 50 and value is
Rs. 17.50. The number of 25 paise and 50 paise coins are respectively :
Uh UH H 25 99 Ud 50 UH @& T 2| S9dT &1 50 2 Ud 3951 319 To 17.50

s

2125 T8 ug 50 U9 & fOasl @ d@m F99n 2




30 and 20
1. 30 g 20

20 and 30
20 T9 30

40 and 10
3 40 T9 10

25 and 25

4 25 @ 25

Question Number : 92 Question Id : 5431078854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuesticon Label : Multiple Choice Question

Which one of the following is in descending order ?

efafag s A dH acad A 4 8 7
Options:

Ih 14 17
1719725

li_}

#
¥k

—
[ 4]
b
et
|

r

[
L |
|
S0

16 17 17

; 19726°18

11 13 16

4_1?’13’1q

Question Number : 93 Question Id : 5431078855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion



A person travels 30 km by bicvcle with 10 km each with speed of 20 km/hour,
15 km/hour and 25 km/hour, respectively. An average speed of the person is

closest to -

U @ifad WEfhe | 30 fFodlo Taar 21 U&i® 10 fodlo g8 HHI: 20 fhodle Ofd

Hel, 15 fhotlo wfa =er U4 25 fHodlo AT Her &1 0 W aoal & | &fda & 3

Tfd 394 9 fegs w09 28R

Options:
19 20 km/hour

1 19.20 fhodte ufa Her

19.15 km /hour

19.15 Thodle HWig HeT

19 30 km /hour

5 19.30 fhodlo ufg =er

1950 km /hour

19.50 fehodlo ufd Her

Question Number : 94 Question Id : 5431078856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Median of 3, 4, X and 10 is 5. The value of X is:
3,4, X T4 10 &1 A 5 21 X &1 7149 2860
Options:

1. 6

Question Number : 95 Question Id : 5431078857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Which of the following is different from others ?
ETH H B 599 | = 8 ?

Options:

1 17

5 19

Question Number : 96 Question Id : 5431078858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

I(X-Y)=1and XY =0, then X _¥ig:

AT (X-Y)=1 T XY=0, a1 X°-Y? w179 &

Options:
1.0

Question Number : 97 Question Id : 5431078859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Guestion
Look the following tigures :
Ul [H¥felldd THd qfF .
4

(%]

[~
)
P

Which of the following sentences is frue ?

Frffad & ¥ @ a9 wé 2
Options:
Areas of the three figures is same.

| 1 TR BT EEhel SR ¥ |



Perimeters of the three tigures are equal.

o M fEE & aiRfE wWEx 2

Areas of the three figures are different.

SIGIREEIRCIR- L TR

Both Perimeters of the three figures are equal and Area of the three figures
are different.

4 Al _'cllﬂx' FF[ Elﬁ'fﬁ BT ? QE[ F’Iﬁ -_-|x' SEIRGTI E:1 =Th |_'13|' ] ? E': :lh.

Question Number : 98 Question Id : 5431078860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which one of the following fraction is the lowest ?

Frefferiiad =1 5 9oy <709 &4 8 ?

Options:
19
L 20
13
17
2.
15
5 17
21
23
4,

Question Number : 99 Question Id : 5431078861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

If 541 =150, then valueof x 15 :
s T 3 .. " &
gfc 5°+x° =150, di x &I AH & :

Options:

I._,!I

i



-H"'\-I

Question Number : 100 Question Id : 5431078862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

If arithmetic mean of natural number 1,2, 3, ... ,11is 25, thenvalue of nis -

afg Arpfas 9= 1,2,3, .. , i1 T FHFGY AT 25 8, a9l n &1 749 ¢

Options:

E

1,

Question Number : 101 Question Id : 5431078863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

If Sunday comes after 6 days from today and today is 15 October, then the day

on 1st January next year is :

e 3mw 9 6 29 91 09 a7 & 3W & 15 HFCHAR 2 I 3T 99 UEoll oiedel

GO s e O 11 s e
Options:
Monday

1 AR

Wednesday
o 3
Tuesday

= A .qi{dﬁ %

Friday

4 epdlY



Question Number : 102 Question Id : 5431078864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In certain code MAILED is coded as NBJMFE, then LETTER is to be coded as :
MAILED &I & & 91 § NBJMFE & %0 d {or@r 1 2, df LETTER &I 3d1
e H foren SR

Options:

) MUUPGY

3 PFUUMY
3 DMBTTS

i MFUUFS

Question Number : 103 Question Id : 5431078865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label ; Multiple Choice Guestion

If India is written as 95491, then DELHI will be written as -

Ife INDIA &7 95491 & ©<e forar 71 8 °f DELHI &7 599 ¥ g ove fora

- P -

71 L
TR |

Options:
1 45389

o> 45439

Question Number : 104 Question Id : 5431078866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Missing letter in the following is
<%= H T g3 e §

C I F D
BlE|P
L& ?

Options:



Question Number : 105 Question Id : 5431078867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

A mother is three times the age of her son. Five years back the son was 1/7th of

his father. If father is 5 years older than the mother, the age of the son is :

HIAT Ofl @1 A 39 9 9 O A1 2 | U 99 ggd 9 @) g U U @ Ay

w1 1/7 e o | e &1 g 71 &1 AY 9 U™ 99 SareT g, o1 9 $1 S B
Options:

12 years
p 124

10 years
> 109

13 vears
5 1599

15 years
4 15 G|

Question Number : 106 Question Id : 5431078868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

5 percent of 2 hours and 20 minutes is

&7 " U9 20 fAee @7 5 ufoer 86 -

Options:
7 minutes

7 B

14 mimutes

5 14 A+



7 minutes and 2 seconds

=3 ? Fq‘; L E’E 2 ‘{‘3-"-?\'”:\'5

14 mimuates and 5 seconds

4 14 tl; L Qﬂ -5 Q‘:|rg.:||:=¢3

Question Number : 107 Question Id : 5431078869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

If 5 is substracted from cube root of any number, it becomes zero, then the

niimber is :

gfe 58 W& & 999a 9 5 "l four 9/ 91 38 I 81 Wl €, o U8 U

=5

B

Options:
; 829

5 125

z 900

4 100

Question Number : 108 Question Id : 5431078870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

If area of rectangle is 830m* and perimeter is 36 m, then width of the rectangle is :

afe UH AT T G 80m2 TUT S9! N 36 m B O S9d! diels 8 ¢
Options:

1 & m

o 10m
12
= 12m

o b m

Question Number : 109 Question Id : 5431078871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It 2 is substracted from cube root of a number, then it becomes 2, and if 4 is
zubstracted from square root of the same number, then it becomes 4, then the
number is :

?TI_ET U G % gHe 9 2 "ol f3ar ol 9 98 2 81 Wi 2, Ud 9 9 &
] éﬂﬂﬁmwﬁﬂﬁ4ﬁﬁﬁ%’ﬁmw

Optlons:
1. 31

> 729
= 64

4 125

Question Number : 110 Question Id : 5431078872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In a row of students, Ram is 11th from left and Seema is 7th from right. If they
interchange their positions, then Ram becomes 15th trom the lett. How many
students are there in all.

foenfiiai & i 4 v a9 @ 119 W W 2 9w 99 =8 9 7d W W) B ufe
TH R U T RIF AScA-ggel] &Y o o I 94 9 159 WE W S W 2

Options:
1 20

Question Number : 111 Question Id : 5431078873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



If the following squares represents the monthly income of bwo families.
feferiad @ &7 uant @1 AdS 3 & UEEd &d 2 |

2 3

If monthly income of family A is Rs. 40,000 then monthly income of B is :

gfe uffar A @ 9@ 319 40000 & o uRaN B @1 91fbs 39 2 ¢
Options:
; 90,000%

5 60,0003

5 50,000%

4 1,20,000%

Question Number : 112 Question Id : 5431078874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Out of two candidates in an election, one gets 60 percent of votes and win the
election by 600 votes. The total number of votes iz :
UF A9 H B TAnd € U TRl 60 Wiied 4 9T #Y 600 dic 6 Wi ol

Options:
1 1300

> 2000
= 5000

4 3000

Question Number : 113 Question Id : 5431078875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

When 24 is added to 40 percent of a number, the result is the number itself. The

number is :

afe el 9= & 40 ufaog 8§ 24 wie foar ow, o1 98w 81 9l B ar HeEn

b

T
Options:



Question Number : 114 Question Id : 5431078876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label ; Multiple Choice Guestion
Three numbers are in ratio 1 - 2 : 3 and their HCF is 12. The numbers are :

O G 1:2:3 & ogUa H 2 9 901 Aegq 9ATaas 12 © | HEa aarsy |

Options:
) 12,24, 36

Question Number : 115 Question 1d : 5431078877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Five-eighth of three-tenth of four-ninth of a number is 45. What is the number ?
UF A& F 4/9 FT 3/10 &1 5/8, 45 ¢ | IE& Fa130 |

Options:
1 470

Question Number : 116 Question Id : 5431078878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



The ratio of the present age of father to that of son is 7 : 2. After 10 vears their
ages will be in the ratio of 9 : 4. The present age of the father is :

a1 Ud U3 B doHE g @1 SgAd 7 ;0 2 B1 10 991 & SUN 9Adl &g @l
AU 9 -4 ErT | fUen #1999 Ay fea 2 7

Options:
35 years

p 35 ad

40 years
> 40 99

30 vears
5 30 @9

25 years
425

Question Number : 117 Question Id : 5431078879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion
The ratio of 1 hour to 300 seconds is :
1 HU€T : 300 WSS & HH BFI :

Options:
1415

5 15:10
5 10:15

4121

Question Number : 118 Question Id : 5431078880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

In a certain code language :

'white is verv bad’ is written as 'la toja sa’

'cold drinks are white' is written as " ja para da’

'coffee is very cold' is written as 'da to fa la'

What is the code for bad'?

U e I H 'white is very bad' #1 la to ja za' fogd 21 'cold drinks are
white' &1 'ja para da’ fof@d F1 'coffee is very cold' &1 'da to fa la' forad 2|

0 9191 ¥ bad F1 He 1 EF 7

Options:



Sub-Section Number: 2
Sub-Section I1d: 543107166
Question Shuffling Allowed : Yes

Question Id : 5431078881 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (119 to 120)
Juestion Label - Comprehension

Study the following information carefully to answer the questions given below :

Eight persons namely K, P, I, N, O, L, M and ] sit in two parallel rows opposite to each
other. Four persons sit in each row. In row 1 : K, P, I, N are sitting and all are facing
south direction. Inrow 2: O, L, M, | are sitting and all are facing north direction. | sits
second to the right of L, whao sits opposite to the one, who is immediate neighbour of

I, N sits second to the left of P. P does not sit extreme end of the line. M does not sit
opposite to K. O is not neighbour of |.

C T ST S o | e 1151 e D 2 o e v

ae wfed K, P, LN, O, L, M 3R | =1 ufdeal 3§ sm--ar9 40 2 | g ufad § K, P, L N
e @ T HE e 4o ¢ | AR e g ufda # 9o F gE ufaa §# O, L, M, ] SR
@ TP HE &Y 4o &1 ], L @ S N 4ol g guvl |idg 2, W [ 99 @fad & A
dor g WfFdwm 1 & o §a1 2| N, P & arfl avw da1 gu9 oJfaa & | P e+ dfam
4§ o7 gor o =ifes 8 81 M, K & 9 &l 481 21 O,] & g 81 497 7 |

Sub questions

Question Number : 119 Question Id : 5431078882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Who =its opposite to P ?
P & T &I @e1 & 7

Options:

1, @



Question Number : 120 Question Id : 5431078883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuesticon Label : Multiple Choice Question

Who sits second to the right of I ?

I & i OYF 981 g3 §8¥ Sfdd ®H © 2

Options:

1 P

Z. N

3 O

4, K

Section I1 English Language Test

Section Id : 543107127
Section Number : 2
Section type: Online
Mandatory or Optional: Optiona
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 90
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 543107167
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5431078884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Select the word nearest in meaning fo the given word :
Batftle :

Options:



> To disconcert
5 lease

4 Vend away

Question Number : 122 Question Id : 5431078885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Select the word nearest in meaning to the given word :
Rejoice :

Options:

1 Rejoin

5 Rebuild

2 Rename

4 Delight

Question Number : 123 Question Id : 5431078886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

Select the word nearest in meaning to the given word :

Handful -

Options:
1 Useless

> Usetul

5 a teww, a little

4 Powertul

Question Number : 124 Question Id : 5431078887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Select the word nearest in meaning to the given word :

Upheaval :



Options:
1 Upward turn

Abrupt change
Slow change

Chitcome

Question Number : 125 Question Id : 5431078888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Select the word opposite in meaning to the given words :
Embellizh -

Options:
1 Distigure

5 Imagine
= Beautity

4 Disarm

Question Number : 126 Question Id : 5431078889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Select the word opposite in meaning to the given words :
Wane:

Options:
1 Widen

~ Fatten
2 Prosper

4 Reduce

Question Number : 127 Question 1d : 5431078890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question



Select the word opposite in meaning to the given words :
Arduous :
Options:

L Easy

> Difficult

= ::tra:nge

4 Unknowmn

Question Number : 128 Question Id : 5431078891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Select the word opposite in meaning to the given words :
Peer -

Options:
1 Une qual

5 Uncertain

3 Sure

i Equal

Question Number : 129 Question Id : 5431078892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Select the correct meaning of the given idiomatic expressions :
Give in .

Options:

1 Celebrate

5 Surrender

- Give a gift

4 Enmjoy

Question Number : 130 Question Id : 5431078893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Select the correct 1119&11_1'_115 of the given idiomatic exprezail:ms:

Call a spade a spade :

Options:
i Say the truth about something

> Be harsh
z Be polite

i Be forgetful

Question Number : 131 Question Id : 5431078894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Select the correct meaning of the given idiomatic expressions :
A red letter day :

Options:
] A red letter day :

5 A bloody day

An auspicious day
=, :

j A togoy day

Question Number : 132 Question Id : 5431078895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the correct meaning of the given idiomatic expressions :

Call names -

Options:
i A bloody day

5 An auspicious day



- A foggy day

4 A rainy day

Question Number : 133 Question 1d : 5431078896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Select the correct form of the verb to fill in the blanks in

the gi*fen zenitences :

| = him since last January.

Options:
. have zeen

> have not seen

= do not see

4 did not see

Question Number : 134 Question Id : 5431078897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

Select the correct form of the verb to fill in the blanks in

the given senitences :
W s the match wnll be cancelled.

Options:
) will rain

5 would rain

rained
=

" rains

Question Number : 135 Question Id : 5431078898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



Select the correct form of the verb to fill in the blanks in

the giﬁ'en senitences :

We should reach home beforeit ... .. .. dark.

Options:

ot
1. 8

5 15 getting

3 gE‘tS

" will get

Question Number : 136 Question Id : 5431078899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Select the correct form of the verb to fill in the blanks in

the gi*fen zenitences :

When Imet him he ... . a letter to his mother.

Options:
i 15 writing

o wrill warite

5 Was wrltmg

4 wiowld write

Question Number : 137 Question Id : 5431078900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Choosze the correct option to form the right sentences -

Heknows .. a plane.
Options:

, to tlving

5 flving art



= how to fly

4 art i

Question Number : 138 Question 1d : 5431078901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Choose the correct option to form the right sentences -

The saint said that a war of liberation ...... ... great spirit, sacrifice, and
patience.

Options:

, comp elled

5 torced

= encouraged

4 demanded

Question Number : 139 Question Id : 5431078902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Choosze the correct option to form the right sentences -

History is replete with examples of strong nations ...._.... the weak ones.

Options:
1 I'E'El'l.llr:lﬂg

5 dominating

= advocating

o aSEertmg

Question Number : 140 Question Id : 5431078903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Choose the correct option to form the right sentences :

The young students __...__.. the highest peak of the Shivalik range of the

Options:
1 WiOI

5 zcaled
2 walked

4 climb up

Question Number : 141 Question Id : 5431078904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Select the part of speech of the underlined word in the

given sentences

Whao will bell the cat ?

Options:
1 Noun

> Verb
2 Adverb

4 Adjective

Question Number : 142 Question Id : 5431078905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Select the part of speech of the underlined word in the

given sentences

He met me near the bank.

Options:
1 Noun



5 Conjunction

3 Adverb

4 Adjective

Question Number : 143 Question 1d : 5431078906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Select the part of speech of the underlined word in the

given sentences :
My aged aunt is very affectionate.

Options:
1 Noun

> Verb
3 Adverb

4 Adjective

Question Number : 144 Question Id : 5431078907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice GQuestion

Select the part of speech of the underlined word in the

given sentences :

He treated me well.

Options:
; Noun

> Verb
= Adverb

4 Adjective



Question Number : 145 Question Id : 5431078908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

How does this differ ... ... the other ?

Options:
b =
1.

o1

at

from
4.

Question Number : 146 Question Id : 5431078909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Fill in the blanks with the correct preposition :

She was interested ... .. modern art.

Options:

1 of

i with

5 By

i1

Question Number : 147 Question Id : 5431078910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Fill in the blanks with the correct preposition

The great English poet John Keats died ......... consumption.

Options:



with
of
at

by

Question Number : 148 Question 1d : 5431078911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Select the word which has been wrongly spelt

Options:
i Distinguished

3 Publication
5 Ginger

i Futilty

Question Number : 149 Question Id : 5431078912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Select the word which has been wrongly spelt :

Options:
; Independence

5 Decieve
5 Moderate

i Canvass

Question Number : 150 Question Id : 5431078913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Select the word which has been wrongly spelt :

Options:
: Auxilary

o Repertoire

5 Receive

i Reztaurant
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Question Number : 151 Question Id : 5431078914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
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Question Number : 152 Question Id : 5431078915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question
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Options:
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Question Number : 153 Question Id : 5431078916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
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Options:
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Question Number : 154 Question Id : 5431078917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
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Question Number : 155 Question Id : 5431078918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Options:
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Question Number : 156 Question Id : 5431078919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
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Options:
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Question Number : 157 Question Id : 5431078920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
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Options:
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Question Number : 158 Question 1d : 5431078921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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Options:
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Question Number : 159 Question Id : 5431078922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

H¥ard Tdhdad 19 o /7

Options:

Question Number : 160 Question Id : 5431078923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

[gemafa @ gerdell @ AT 941 © °
Options:




Question Number : 161 Question Id : 5431078924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Options:
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Question Number : 162 Question Id : 5431078925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
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Options:
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Question Number : 163 Question Id : 5431078926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Options:
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Question Number : 164 Question Id : 5431078927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
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Options:
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Question Number : 165 Question Id : 5431078928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

‘o § wiA-ar 9 g °
Options:

1 de

Question Number : 166 Question Id : 5431078929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Options:
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Question Number : 167 Question Id : 5431078930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
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Options:
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Question Number : 168 Question Id : 5431078931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

T BI-U1 T oI & 7

Options:
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Question Number : 169 Question Id : 5431078932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
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Options:
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Question Number : 170 Question Id : 5431078933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
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Options:
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Question Number : 171 Question Id : 5431078934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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Options:
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Question Number : 172 Question Id : 5431078935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
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Options:
) HITHA

Question Number : 173 Question Id : 5431078936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Options:
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Question Number : 174 Question Id : 5431078937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Options:

4



Question Number : 175 Question Id : 5431078938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Options:
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
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Options:
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Question Number : 177 Question Id : 5431078940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
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Question Number : 178 Question 1d : 5431078941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
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